
 

 

void BspIsr_UartRxIsr(void) 

{ 

        /* Vaciar buffer Rx */ 

        WBsp_RxTimeout20msgStop(); 

        RxTimeout20msg_ISR_Stop(); 

 

        if (WBsp_UartRxBufferNotEmpty()) 

        { 

            CommsData.ui8_RxBuffer[CommsData.ui8_RxBufferIdx] = WBsp_UartRxReadByte(); 

            /* Arrancar temporizador de timeout entre bytes recibidos */ 

            RxTimeout20msg_WriteCounter(COMMS_TIMEOUT_5SG); 

            RxTimeout20msg_WritePeriod(COMMS_TIMEOUT_5SG); 

            WBsp_RxTimeout20msgInit(); 

            WBsp_RxTimeout20msgEnable(); 

            CommsModbus.ui8_RxTimeout20msgIsr = 0; 

 

            RxTimeout20msg_ISR_Start(); 

 

            /* Incrementar indice buffer Rx */ 

            CommsData.ui8_RxBufferIdx++; 

        } 

} 
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